Nora BK

Nora BBO 2022-03-02

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 168.3. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 6 189.9 56.51 Torbjorn Kareke - Sten Bengtsson 13038 30399 BK Lyx - BK Lejonet
2 9 188.5 56.10 Bo Wiker - Dick Andersson 4014 12411 Folkare BK - Nora BK
3 7 186.7 55.56 Leif Erlandsson - Karl-Erik Nilsson 41756 46221 Orebridgen
4 11 177.0 52.69 Siw Modell - Anne Marie Svensson 17692 92104 Hovmantorps BK - Norrkdpingsbridgen
5 12 177.0 52.68 Gunnar Gothberg - Bo Stanley 14641 11020 Nora BK - Orebridgen
6 5 175.1 52.12 Ann-Kristin Eriksson - Rolf Molin 81599 82476 Borlange BK - Nora BK
7 4 173.2 51.56 Lars Lilja - Karola Hogberg 4118 17222 Lindesbergs BS
8 15 170.9 50.87 Lars Lundgren - Thomas Ekendahl 10275 17307 Arboga BK
9 2 170.0 50.59 Inger Svardby Hyttstrand - Anders Hyttstrand 36294 36293 Are-Duveds BK
10 3 168.3 50.09 Kerstin Marcusson - Lars Marcusson 16365 15446 Orebridgen
11 14 164.7 49.02 Kjell Helin - Susanne Hammar 16870 1253 BS 53, Goteborg - Stigtomta BK
12 10 163.1 48.53 Dan Sundstrom - Ingegéard Andersson 12742 2813  Stigtomta BK
13 17 162.4 48.34 Ake Spets - Lars Edbladh 40529 55745 Katrineholms BA - Norrképingsbridgen
14 8 161.0 47.93 Roger Thynell - Ylva Kallgvist 52632 82474 Nora BK
15 1 152.8 45.48 Birgitta Karlsson - Anne-Marie Thell 61461 59527 Nora BK
16 16 151.2 45.00 Irene Haberger - Jan Olsson 55643 64502 Nora BK .
17 13 129.0 38.39 Tomas Hellgren - Goran Oldin 40239 10369 Karlskoga BK - Orebridgen
1 4 EKD9 Basta kontrakt 2 4 EKn Basta kontrakt 3 4 EKn874 Basta kontrakt
Nord v EKn62 3NT N =400 Ost v 8542 5NT S =660 Syd v Kn104 5NT V =-660
Ingen +5 NS + EK986 ov +9
#Kn854 & ¢ v & NT «108 & ¢ v & NT #8532 & ¢ v & NT
48652 41074 N9 9 9 9 9 |410972 «D4 N 119 5 1011 4 KD10 49532 N26 322
v10753 vD84 S99 9 9 9 | vKDKn1l0763 vE S 119 5 1011 vE6 v KD85 S26322
+ E8 ¢+ D93 O4 2 44 4 |7 ¢DKn10432 O 1 4 8 2 2 +874 ¢+ E102 O 117 9 1011
#EK6 410973 V42 444 (a4 #9532 V142822 #DKn964 &EK vV 117 9 1111
4 Kn3 & K8653 46
v K9 v9 v 9732
¢ KKn107642 +5 + KDKn653
«D2 #EKDKnN76 «107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 16 3NN+3 v4 490 140 00| 5 6 44 S+1 7 650 13.0 10|17 13 6NV-1 s A 100 140 0.0
9 10 3NS+1 &K 430 100 40| 7 8 44 S+1 &4 650 13.0 10| 5 10 3NO= +K -600 12.0 2.0
11 12 3NN+1 v4 430 100 4.0(15 16 5% S= vK 600 100 40| 2 8 3NO+1 v2 -630 8.0 6.0
13 14 3NN+1 &T 430 100 40| 9 10 5vDV-2 +A 300 80 6.0| 7 16 3NO+1 +¢K -630 80 6.0
5 6 3NN= v4 400 50 90| 1 2 44S+1 3 150 6.0 80|15 4 3NO+1 +¢K -630 8.0 6.0
7 8 3NN= v8 400 50 90| 3 4 4¢ N= +Q 130 40 100| 1 12 3NO+2 K -660 3.0 110
1 2 3NN-1 &T -50 1.0 13.0|11 12 4¢vDV-1 K 100 20 120|11 6 3NV+2 &7 -660 3.0 110
3 4 2NN-1 a4 -50 1.0 13.0|13 14 54 S-1 *7 -100 0.0 14.0( 3 14 3NV +3 &7 -690 0.0 14.0
17 - 6.9 17 - 6.9 9 - 8.6
4 ~E109 Basta kontrakt 5 4985 Basta kontrakt 6 4543 Basta kontrakt
Vast vKn 4¢ N =130 Nord v 103 4v O =-420 Ost v Kn54 44 O =-620
Alla + KD1093 NS + EK765 ov + K1063
#EK42 & ¢ v & NT #EK6 & ¢ v & NT *K64 & ¢ v & NT
45 4 D86432 N 4 106 6 8 4 KKn1062 4D4 N6 8345 aKn7 &4KD962 N376 35
vEKD853 v- S 4 106 7 8 v KKn94 vED872 S6 8345 vE976 v¥D10 S37635
.- ¢+ EKn76 0837565 + D92 +10 O7 4 109 5 49854 +D O 106 7 107
#Kn109853 #D76 V83755 23 #D10972 vV 7 5 109 6 #1092 #EDKn85 V 106 7 107
& KKn7 4E73 «E108
v 1097642 v 65 v K832
¢ 8542 + Kn843 ¢ EKn72
»- #Kn854 *73
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 16 3NDO-4 &7 1100 140 00| 2 16 3y O+1 3 -170 90 50| 1 8 3¢ N-1 &A -50 140 0.0
3 14 3¢DN= 43 670 120 20| 3 17 29 O+2 +4 -170 9.0 50| 9 13 3¢ N-2 &K -100 11.0 3.0
11 6 44DV-2 vJ 500 90 50| 7 4 3vO+1 3 -170 90 50|12 6 2¢ N-2 &K -100 11.0 3.0
15 4 4vyDV-2 &K 500 90 50| 9 13 3vO+1 3 -170 90 50| 7 4 14 O+2 &7 -140 8.0 6.0
1 12 2¢yDV-1 #A 200 40 100(12 6 3vy O+1 v6 -170 9.0 50| 3 17 14 O+3 &7 -170 50 9.0
2 8 3vV-2 *A 200 40 10015 14 2v O+2 &A -170 9.0 50|15 14 14 O+3 &7 -170 50 9.0
5 10 4v V-2 *A 200 40 100 1 8 4v 0= +J -420 10 13.0| 2 16 3v S-4 ] -200 1.0 13.0
17 13 3¢ N= 46 110 0.0 14011 10 4v O= +8 -420 1.0 13.0|{11 10 3¢ N-4 &K -200 1.0 13.0
9 - 8.6 5 - 6.9 5 - 6.9
7 » EKKn86 Basta kontrakt 8 a2 Basta kontrakt 9 4 E96 Basta kontrakt
Syd v K108 2NT V =-120 Vast v3 34 V =-140 Nord v 753 24 ND-1-100
Alla ¢+ 974 Ingen + EKD95 ov + K93
#Kn4 & ¢ v & NT #987542 & ¢ v & NT #E1084 & ¢ v & NT
4 D52 493 N338765 4 EKKn7 410854 N48531 4 Kn74 4 D105 N8 6 576
vE9 vKn76 S33875 vED1085 v72 S586 44 v EK1098 v Kn62 S 86576
¢ K103 ¢ ED852 09 956 8 +102 ¢ Kn3 0857938 + D86 410742 057857
#K7532 #E96 V995638 #Kn3 #EKD106 V857938 «D5 #KKn3 V57857
41074 4 D963 & K832
v D5432 v KKn964 vD4
+ Kn6 + 8764 ¢ EKn5
«D108 »- #9762
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 13 4¢ O-1 &7 100 13.0 10| 8 16 54 O-3 8 150 140 00| 6 10 2v V-1 v3 100 140 0.0
7 14 3NV-1 *7 100 13.0 10|15 17 44 V-2 ¢ A 100 12.0 20|11 13 2NN-1 +4 -50 120 20
9 3 34 N-1 &A -100 10.0 40| 9 3 3a4V-1 *A 50 100 40| 2 14 INO= »2 -90 100 4.0
1 6 2NV+1 a8 -150 80 6.0| 7 14 3¢ N-1  #A -50 80 60| 5 3 2vV= a A -110 70 7.0
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12 10 INV+3 ¢9 -180 6.0 80|12 10 5¢ S-2 s A -100 60 80|15 9 2vV= v5 -110 70 7.0
2 4 3vDS-2 3 -500 40 100 1 6 5¢ N-3 LY -150 3.0 110 7 17 INO+1 43 -120 3.0 11.0
8 16 3NV= 48 -600 1.0 13.0| 5 13 3¢ N-3 *A -150 3.0 110 8 4 INO+1 &2 -120 3.0 110
15 17 3NV = 48 -600 10 13.0| 2 4 44 0= +8 -420 0.0 140( 1 16 2vV+1 ¢3 -140 0.0 14.0
11 - 7.0 11 - 7.0 12 - 8.2
10 4 Kn7 Basta kontrakt 11 4« ED1086 Basta kontrakt 12 4 E432 Basta kontrakt
Ost v EK9872 34 S =140 Syd v 86 34 S =140 Vast v 97 3v V =-140
Alla + 87 Ingen +E8 NS +98
»E82 & ¢ v & NT #EKn83 & ¢ v & NT #KDKn96 & ¢ v & NT
K2 « D986 N7 8997 4Kn95 4K3 N86 79 8 48 « KDKn65 N7 3366
v 654 vKn103 S789 97 vEKn3 vD1074 S867 98 vKKn8632 v 105 S7 4466
¢ K965 ¢ Kn43 054233 ¢ Knl04 ¢ K9752 0476 44 ¢ KDKn65 ¢ 107 059976
#DKn105 #K64 V54233 D542 #106 V57645 &8 #E532 V58976
& E10543 742 1097
vD v K952 vED4
+ ED102 + D63 ¢ E432
%973 *K97 21074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 17 4y N= &4 620 13.0 10| 1 10 34 N= &T 140 120 2011 3 2v 0= aT -110 14.0 0.0
15 9 4vy N= +3 620 13.0 10| 8 14 34 N= &T 140 120 20| 8 14 2¢vV+2 &K -170 11.0 3.0
6 10 3y N+1 3 170 100 40|12 13 24 N+1 v7 140 120 20(16 4 2vyV+2 &K -170 110 3.0
1 16 3y N= &4 140 6.0 80| 7 9 24 N= ¢+5 110 70 70|12 13 3NS-2 +K -200 80 6.0
8 4 3vy N= &4 140 6.0 80|11 3 24 N= v7 110 70 70| 1 10 4v V= s A -420 3.0 11.0
11 13 3v N= +3 140 6.0 80|16 4 44 N-1 v7 -50 40 100( 2 17 4v V= +9 -420 3.0 11.0
2 14 3NS-2 *0Q -200 20 120| 2 17 44 N-2 &T -100 20 120| 5 15 4v V= &K -420 3.0 11.0
5 3 3NS-3 *Q -300 0.0 140( 5 15 44 N-3 v4 -150 00 140( 7 9 4v V= &K -420 3.0 11.0
12 - 8.2 6 - 8.1 6 - 8.1
13 4 K76432 Basta kontrakt 14 49 Basta kontrakt 15 & KDKn72 Basta kontrakt
Nord vK 44 N D -2-500 Ost v Kn9432 6v S =980 Syd v10 5v V =-450
Alla *2 Ingen + 96 NS 972
#E7543 & ¢ v & NT #K9754 & ¢ v & NT #K1053 & ¢ v & NT
.- # EDKn5 N54 484 & KKn643 & D7 N 126 128 8 10 » E8643 N6 6 26 4
vDKn10753 v6 S54584 v10 v D86 S 126 128 8 vKD53 vKn87642 S 6 6 1 6 4
+ KD85 ¢ E943 0888409 +D1074 #KKn8532 0O 1 7 15 2 ¢ EDKn83 ¢ - 06 7 117 9
#DKn6 #10982 vV 88849 #D82 #Kn3 V17142 &#E94 »D6 V67 117 9
41098 4 E10852 495
v E9842 v EK75 vE9
+ Kn1076 ¢ E + K10654
&K *E106 #Kn872
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
7 5 5vDV-3 ¢2 800 140 00|12 3 4y N+2 3 480 140 00|10 13 INS-2 &4 -200 13.0 1.0
2 9 4y V-2 A 200 100 40| 2 9 4v S+l ¢4 450 11.0 30|11 7 3vO+2 49 -200 13.0 1.0
8 17 4v V-2 A 200 100 40| 7 5 4v N+1 38 450 11.0 30| 2 5 4vV+1l &K -450 50 9.0
11 15 3NO-2 aT 200 100 4.0(16 14 4y S= ¢+ Q 420 80 60| 4 14 4vy O+1 49 -450 50 9.0
6 13 24 N+2 v6 170 6.0 80| 6 13 3v S+2 ¢7 200 6.0 80| 6 3 4v O+1 49 -450 50 9.0
12 3 34 N= v6 140 4.0 10.0(11 15 3vS+1 vT 170 40 100 8 9 4v O+1 49 -450 50 9.0
1 4 3NO-1 T 100 20 120| 1 4 14 S+1 T 110 20 12.0|12 15 4v O+1 49 -450 50 9.0
16 14 24 N-2 v6 -200 0.0 140(| 8 17 1s S= vT 80 0.0 14016 17 4v V+1 &K -450 50 9.0
10 - 7.0 10 - 7.0 1 - 5.4
16 4 EKn9 Basta kontrakt 17 4 K8 Basta kontrakt 18 410 Basta kontrakt
Vast v EKD1062 7NT N =1520 Nord v8 5¢ N =400 Ost v E86 6¢ S =1370
oV + EK85 Ingen + ED87 NS ¢ EDKn7432
»- & ¢ v & NT #EKN10876 & ¢ v & NT *K5 & ¢ v & NT
41086542 473 N 6 13138 13 « ED9653 & Kn42 N9 118 5 8 « K94 « E87532 N9 12117 11
v 953 v- S 6 12138 13 v 1092 v EKNn73 S 9 118 5 8 v53 v DKn9 S 8 12117 11
.7 ¢ Kn432 06 0040 ¢Knl06 5 042473 + K86 +10 041151
#984 #KDKn10532V 6 0 0 5 0 &5 #D9432 V42473 #107432 #Kn96 V41151
+KD 4107 & DKn6
v Kn874 v KD654 v K10742
+D1096 ¢ K9432 495
*E76 &K #EDS8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 14 7v N= K 1510 100 40| 1 14 5¢ S= &5 400 120 20| 4 17 44DV-4 +A 800 140 0.0
6 3 7vy N= K 1510 100 40| 4 17 5¢ S= aA 400 120 20| 2 11 3NS+ &K 660 120 2.0
11 7 7v N= &K 1510 100 40| 6 15 3NN= ] 400 120 20| 1 14 4v S= v3 620 9.0 5.0
12 15 7vy N= K 1510 100 40| 2 11 4¢ N+1 o] 150 70 70| 6 15 4v S= &K 620 9.0 5.0
16 17 7vy N= +J 1510 1000 40| 8 5 4¢ S+1 &A 150 70 7.0/10 3 4¢ N+2 &A 170 6.0 8.0
2 5 6NS+1 45 1020 40 100(10 3 44 N= a2 130 40 100 8 5 44 0-3 9 150 4.0 10.0
10 13 6vy N+1 #K 1010 20 12012 7 3&N= ¢+5 110 20 12012 7 64 N-1 LN -100 2.0 120
8 9 5v N+2 &K 510 00 140(16 9 5¢ N-1 a2 -50 00 140(16 9 4vS-2 a4 -200 0.0 14.0
1 - 5.4 - 13 58| - 13 5.8
19 4106 Basta kontrakt 20 & Kn642 Basta kontrakt 21 486 Basta kontrakt
Syd v EK7 2v V =-110 Vast v K876 24 V =-110 Nord vE942 44 V =-420
(6)) + K1092 Alla ¢ EKKn105 NS + 86
#KD86 & ¢ v & NT »- & ¢ v & NT #EDKnN85 & ¢ v & NT
o E & K8732 N6 5565 49875 #EKD N8 7 556 4943 «EKD1072 N 6 7 7 3 4
vKnl042 vD85 S6 5565 vD2 v EKn543 S77556 vKKn6 v85 S6 7734
+ 8753 ¢ EDKn 078877 + D963 ¢82 056777 ¢ EKn32 ¢ D7 06 5599
*E972 #Kn3 V78877 #1052 #ES83 V56787 K102 %643 V 756 109
4« DKn954 4103 & Kn5
v 963 v 109 vD1073
¢ 64 ¢ 74 + K10954
#1054 #KDKn9764 «97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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6 7 24 N= *J 110 13.0 10|14 17 44 V-2 ¢A 200 14.0 0.0 44 O-2 9 100 14.0 0.0
12 2 24 N= *A 110 13.0 10| 1 13 3vO-1 7 100 120 20 34 O= *9 -140 10.0 4.0
8 11 INV-1 »8 100 100 40|12 2 3#S-1 vQ -100 9.0 5.0 24 O+1 & -140 100 4.0
1 13 24 N-2  «3 -100 70 7.0|16 5 2¢ N-1 &A -100 9.0 5.0 34 O= *9 -140 100 4.0
14 17 24 N-2  #J -100 70 70| 6 7 3#S-2 vQ -200 6.0 8.0 34 O+2 ¢4 -200 6.0 8.0
10 15 24 O= +6 -110 40 100 4 9 3NN-3 4A -300 3.0 11.0 3NV = *Q -400 3.0 11.0
16 5 3% N- a7 -150 20 12.0|10 15 4S-3 vQ -300 3.0 110 3NV = *J -400 3.0 110
4 9 24DO= 3 -670 0.0 140( 8 11 54DS-3 vQ -800 0.0 14.0 44 O = v3 -420 0.0 14.0
- 3 66| - 3 6.6 8.2
22 41073 Basta kontrakt 23 4 Kn10942 Basta kontrakt 48 Basta kontrakt
Ost v K8764 3v SD-1-100 Syd v74 INT V =-2220 v EKn43 3¢ ND-1-100
ov ¢ Kn54 Alla +76 ¢ D65
»54 & ¢ v aN #KDKn3 & @ *E8743 & ¢ v aN
« EKD54 4 Kn62 N57 855 « KD53 ~E6 N 3 2 «E1032 4 D965 N6 86 55
v 953 vD2 S57855 vK vED2 S 3 2 vD9765 v 108 S68655
¢+ KD 410972 086586 ¢ EKn8542 ¢ D1093 O 1 9 ¢E7 + K108 065786
#1082  #KDKn7 V86586 +108 *E652 V1 9 #65 +#KD109 V65786©6
+98 487 4 KKn74
v EKnl10 v Kn1098653 v K2
+ E863 +K + Kn9432
#E963 *974 #Kn2
Par Kontr Ut Res Poang Par Kontr Ut Res Kontr Ut Res
10 7 3v N= *K 140 140 00| 6 8 5¢ V+2 &K -640 .0 34 0O-2 &) 100 0.0
16 11 3v N-2 &K -100 120 20|10 2 3NO+3 vJ -690 .0 INN= vT 90 2.0
117 24 V+1 ¢ -140 70 7.0| 4 11 3NO+4 vJ -720 .0 24 V-1 vA 50 4.0
4 5 24 V+l &5 -140 70 7.0|16 12 3NO+4 vJ -720 .0 Pass 4.0 10.0
6 2 24 V+l &5 -140 70 70|14 5 6e V= *K -1370 .0 Pass 4.0 10.0
14 9 24 V+1 &5 -140 70 70| 1 3 66 V+l &K -1390 .0 Pass 4.0 10.0
13 3 INO+2 6 -150 20 12.0|13 15 6¢ V+1 &K -1390 .0 Pass 4.0 10.0
8 12 24 V+2 &5 -170 0.0 14017 9 6¢ V+1 #K -1390 .0 Pass 4.0 100
- 15 82| - 7 .8 7.8
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